

1 Introduction

$$s^3 K' A'' + s A' s^2 K'' + 3 s K' + 2 K_{s=0} - A s^2 K_{s \rightarrow \infty}$$

$$k_1 = \frac{4}{5} + \frac{1}{2} \int_0^{\infty} A + \frac{3}{5s^2} 2s^2 s - (s-1)(1+2s+s^2) s$$

$$\begin{aligned}
 & -\frac{3}{5} e^{-2s} \left(\frac{1}{s^3} + \frac{1}{s^2} + \frac{2}{3s} + \frac{5}{3}(2s-1) \right) s \\
 & -\frac{3}{5} \frac{2}{s^3} - \frac{3}{s^2} + \frac{2}{s} (s-1) ds, \tag{2}
 \end{aligned}$$

$$k_2 = \frac{1}{5} + \frac{1}{2}$$

2. 2020. 11. 1. 14:30

2 - a 2 1

e e

$$b_{-2} = -\frac{3}{5}, \quad b_0 = -\frac{6}{25} \quad (6)$$

$$b_2 = -\frac{107}{1575}, \quad b_4 = \frac{34}{307125} \quad (7)$$

$O(s^{-2-\sqrt{10}})$, f e e e f s e e e e e e e

